> restart

> FEcuacion := 3-exp(x) -tan(y(x)) + (2 —exp(x)) - (sec(y(x)))--2-
Ecuacion =3 ¢ tan(y(x)) + (2 — &) sec(y(x))* (% y(x)) =0

B SolucionGeneral = simplify(dsolve( Ecuacion))

SolucionGeneral :=y(x) = % arctan (2 _ClI (e3x —6 + 126 — 8) ) / ( Ccr? et

—12 CI*&*+60 CI*e"™—160 CI*e* 4240 CI*e**—192 CI*¢ +64 CI*

+1),-( CrPe®* =12 CI*"+60 CIrre*™*—160 CI*e*+240 CI* ™
192 CPR&+64 CIP—1)]( ClP =12 CIPS +60 CIPe* —160 CI2 ™
+240 CIPe**—192 CI*e¢ 464 CI*+1))
> restart
> Funcionl := P(x) =3-exp(x)
Funcionl :=P(x) =3 ¢"
> Funcion2 := Q(y) =tan(y)
Funcion2 .= Q(y) =tan(y)
> Funcion3 := R(x) = (2 —exp(x))
Funcion3:=R(x) =2 —¢"
> Funciond := S(y) =sec(y) -2
Funciond = S(y) =sec(y)2

> FEcuacion := rhs(Funcionl) -rhs(Funcion2) + (rhs(Funcion3) -rhs(Funcion4)) -diff (y(x), x

=0
. X X 2 d _
Ecuacion =3 ¢ tan(y) + (2 —¢ ) sec(y) (a y(x)) =0

> Solucionl = int( rhs(Funciond) ) =—int( rhs(Funcionl)

1
rhs(Funcion2) ’ rhs (Funcion3) ) +log(C
Solucionl :=1In(tan(y)) =3 ln(2 —¢€ ) +In(C

> Solucion?2 = isolate(Solucionl, y)
3 2
Solucion2 =y =-arctan(C (¢")” =6 C (&) +12Ce*—8 C)
> restart

> Ecuacion := (y(x)--2 +xy(x ) -diff (y(x),x) + (x--2 —y(x)x--2) =0

Ecuacion = (y(x) +xy(x) ) (%y( )) +x2—y(x) ¥=0

> FactorM := M(x,y) =x-+2 —y-x--2;
FactorM =M (x,y) = —xzy —i—xz

> FactorN := N (x,y) =y2 +xy2
FactorN =N (x,y) =xy2 +y2
> SepararM = M (x, y) =factor(rhs(FactorM) )
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SepararM := M (x, y) = -y (y—1)
SepararN := N (x, y) = factor(rhs(FactorN) )
SepararN = N (x, y) =y2 (x+1)

> FactorP == P(x) =-x--2

FactorP:=P(x) = -y

FactorQ == Q(y) =y — 1
FactorQ =Q(y) =y — 1
FactorR == R(x)=x+1
FactorR =R(x) =x +1
FactorS == S(y) =y--2
FactorS:=S(y) =y2

rhs(FactorS) ) B int( rhs(FactorP)
rhs(FactorQ) ’ Y rhs(FactorR)

SolucionGral := %yz%-y—Hn(y— 1) =%x2—x+ln(x+ 1)+C

SolucionGral = int( ,x) +C

SolucionGeneral = % y(x)2 +y(x) +In(y(x)-1) = % *—x+ In(x+1)+C
SolucionGeneral := %y(x)2 +y(x) +In(y(x) —1) = % C—x+ Inx+1) +C
EcuaUno = simplify(isolate(diff (SolucionGeneral, x), diff (y(x), x)))
2 JR—
EcuaUno = a4 y(x) = X ) =1 1)2
dx (x+1) y(x)
EcuaDos = isolate( Ecuacion, diff (y(x), x) )
2 2
-x +y(x)x

EcuaDos = — y(x) =
dx y(x0)* +xp(x)?

Comprobacion = simplify(rhs(EcuaUno) — rhs(EcuaDos)) =0
Comprobacion :=0=0
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